
 

IF 2346 1 234 7010 then what

is 2345 in base 10

We have

2lb ti t 3lb ti t 4 2lb it't 3lb 1 t 4

70
Expand

2lb't 2b ti t 3bt3t4 2lb 2b ti t 3b 344
70

Simplify
2b't 46 21 3b t 7 2b 461 21 3b t 13 70
2b't 7b t 9 262 b t 3 70
8b t 6 70
86 64
be 8

So 2346 2 64 t 3 8 t 4

128 t 24 t 4

156



The number x is 111 when written in base b

but 212 when written in base b 2 What is

when written in base 10

X b't b t l base b

2lb 2 t 1 b 21 2 base b 2

so we have

b't b t I 2162 4b t 41 t b 2 2

2b 8b t 8 t b

262 7b t 8
BZ 8b t 7 0

b 71lb it O
6 7 or b L

reject since b 272 it uses the
number 2 in its expression of x

Hence Kio 49 7 t I 57


